3.11

3.12

3.13

3.14

3.15

3.16

3.17

3.18

3.19

3.20

t=1s,x=-1,088 m,
y=-0,8391 m, v, = —16,78 m/s,
v, =544 m/s, v= 17,64 m/s,

a, = 108,8 m/s’, a, = 83,91 m/s’,
a,= 11337 m/s*, a = 137,4 m/s’

2 2
LGS )
4 9
(elipti¢na zavojnica u prostoru),
x=1,73cm,y=2,5cm,z=1 cm,
v = 3,082 co/s, a, = 2,381 cm/s?,
a,= 0,807 cm/s’, a = 2,514 m/s’,
p =399 cm

t

¢=025rad, r=1,5m,v=5m/s,
a,=-16,67 m/s’, a, =8 m/s’,
a= 18,49 m/s’

Vx=15) = 5,943 m/s (a = 13,50),
p =67,98 m,
a,=0,5195 m/s* (B = 103,5°)

a, =322 mm/s* (a = 63,43°), a,= 0,
p =279,5 mm

p = 87,62 km, a = 0,9211 m/s’
(p = 105,67°), o = 75,96°

v, = -1 m/s, a, = 0, a, = 0,5 m/s’,
p=8,762m, v=0,25y/17 m/s

x=1m,y=25m,v,=2m/s,
v, =2 m/s,

v=1,414 m/s (45°), a, =0,
a, =4 m/s” (90°)

r=1,0557 m, ¢ = 0,2361 rad,

v, =0,4721 m/s, v, = 1,056 m/s,
y=1,1564 m/s

a,=0,9443 m/s’, a, = 0,9443 m/s’,
a=1,3354 nJ/s*

v=0,621 m/s, a = 0,655 m/s’,
r=0,4764 m

177

321 v, = 8,66 m/s, a,= 63,92 m/s’,

p=5m

322 r=0,5m,¢9=-0,5rad, p = 1,355 m,

a,=-31m/s*, a,= 14,76 m/s’,
a,=27,28 m/s’

323 v, =1m/s,v,=4ms, a,=-2 m/s’
3.24 v=6,403 m/s, a= 11,7 m/s*
3.25 v,=1m/s,v,=0,75 m/s,

v=125m/s,p =3,049 m,
a,=-0,6875 m/s’, a, = 0,125 m/s’,
a=0,6988 m/s’

326 p=6191 m, ¢ = 1,065 rad,
z=1451m,v,=99,23 m/s,
v, = 54,97 m/s, v. = 30,4 m/s,
va=117,4 m/s

327 a=2746 m/s*, (a=2.8g),
y =74,11°+180° (mjereno od osi z)
c |

a= —
r sin’ ¢

328 v=—ory,
sing

0

329 a=90°-fiz %[f(v,t) =0]

bvsin S

330 vV, =fF—77—,
/4b2 sin’ §+ W

B

v, :vsmz,

- hvcosé
st) = 2

4p? sin® §+ h?

Numericka rjeSenja zadataka



